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1 Defeat the monster

(10 points)

Description

To defeat the monster "WA", which wants to destroy the world. You, the student of the grand wizard "AC",
are helping him to find the spell to defeat the monster. Luckily, "AC" still remembers the spell roughly, so he
asks you to look for all contiguous fragment with the same length which is similar to the spell in his memory
in a spellbook. "Similar" means that there is at most one character different in two strings. That is, for two
string $1, S2, there is at most one 4 such that s1[¢] # s2i].

Input Format

The input contains two lines.
The first line contains a string, which is the spell in AC's memory. The length of it is V.
The second line contains a string, which is the content of the spellbook. The length of it is M.

Output Format

Please print all contiguous fragment in the spellbook which is similar to the spell in AC's memory in
lexicographical order. Two fragments are split by newline.
If there is no fragment similar to AC's memory, just print "Not found" (without double quotation mark).

Constraints

e 1 <NM <108
e 1< N<M<10°
e all characters are lower case alphabet

Input Example 1

key
kaykeykay

Output Example 1

kay
kay
key
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Input Example 2

ytp
yyppabcdefgydp

Output Example 2

ydp
ypp
yyp

Input Example 3

acac
watlerecemle

Output Example 3

Not found

Example Explanation

In example 1, There is only one difference between "kay" and "key".
"key" and "key" are the same.

There is only one difference between "kay" and "key".

So, just print them in lexicographical order.

In example 2, There is only one difference between "yyp" and "ytp", so "yyp" is similar to "ytp". Similarly,
"ypp" and "ydp" are similar to "ytp", too.

In example 3, There is no substring in "watlerecemle" that is similar to "acac".
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